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1)
a) What is the relative error for v = 12.25 m/s £ 0.25 m/s

b) What is the absolute error if the central value is 120 s and the relative error is 5%?

c) Which measurement is most precise and WHY?
1) T=75s+02s
2) L=10.0m+0.2m
3) D=56cm+4%

23) Find the centre and the radius in the following neighbourhoods. Draw the intervals. Express
the intervals in other two ways.
a) (-3,5) b) -7<x<-1

33) Simplify, using index laws: (-3)2{_%)2{(%]_3}2{[_ i)?:r
(-3 37 -(-31'{[—%}3}

43) Find and simplify using only radical properties:

b) a)

{abc? - Jab’c?

Ya’b’c

cc C)
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538) Express with integer denominator, (simplify your answer):

1+ V2] +1 3\5—2wﬁ=
V2

2 by 6+6
3ya0-235+ 23320 -3 31080+ 3130 -
63) Simplify: Z 2 2 2 8
73) Find x
Iugul= X log, x=-3
a) 81 b) 5
8a)

x=2 ¥

a)Write the following as a logarithmic equation in base 10:

lug(x}r)—zlﬂgli
b) Simplify the following using logarithm properties: y

93) Divide 4x° —3x” +5x* =7 by 2x* —-3x+5
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